Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY

Diploma Semester —II Remedial Examination December - 2010

Subject code: 320008 Subject Name: Mechanical Drafting
Date: 18/12/2010 Time: 10.30 am — 01.30 pm
Total Marks: 70

Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.

3. Figures to the right indicate full marks.

4. English version is Authentic

Q.1 (a) Fig-1 shows Pictorial view of an object. Draw it's following view. Assume Ist
Angle Projection Method.
Front View looking in direction of arrow X.
Top view
Left hand Side view &
Rear view
(b) A Square Pyramid of base side 30 mm and axis 80 mm long is lying on H.P.,
such that it's base sides are equally (45") inclined to V.P. and one of it's slant
edge is perpendicular to H.P. Draw it's projections.
Q.2 (a) Fig -2 shows Pictorial view of an object. Draw it’s following views: Elevation
Top view
Sectional Left hand side view along sectional plane X-X
Give all necessary dimensions. Don’t repeat any dimensions in other views,
once it is given in one view.
(b) Fig - 3 shows view of an object, draw development of the surface of part ‘A’ .
OR
(b) A cylinder of 40 mm diameter and axis is 90 mm long is lying perpendicular
on it’s base on H.P. It is penetrated by another cylinder lying such that it’s axis
is inclined at 30° with H.P. and parallel to V.P. Second cylinder is of same size
and height as first. It is bisecting coplanar axes of both the cylinders. Draw the
curve of interpenetration in Elevation.
Q.3 Fig- 4 shows Details drawing of an American tool post. Draw following views
of it’s assembly drawing using Ist Angle Projection Method:
Sectional elevation
Top view
Label the parts and make part list.
OR
Q.3 Fig- 5 shows Assembly drawing of a Cotter and sleeve joint. Draw at least one
( OR necessary no. of views to represent the part) views of it’s details(parts)
drawing using Ist Angle Projection Method. Give necessary dimensions. Don’t
repeat dimensions in different views.
Q4
(@) A right circular cone, base 50 mm and axis 90 mm long is lying on H.P. on it’s
base. A sectional plane inclined at 30° with H.P. and perpendicular to V.P is
bisecting it’s axis.. Draw it’s sectional side view, sectional plan and true shape
of section.
(b) List procedural steps of AutoCAD command (with it’s options) to draw Fig- 6

in AutoCAD.
OR
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A fit is represented by 50 H9c8. Draw the fit and find the following:

(1) Type of fit

(i1) Max. limit of hole

(ii1))  Min. limit of shaft

(iv)  Tolerance on hole and shaft

As per IS-919 following are the limits in microns for 50 mm size
Upper limit Lower limit
H9 +74 00
c8 -60 -106

Explain following AutoCAD commands with it’s options:
Ellipse ~ Polygon  Circle(C,D,2P,3P)  Mirror
Draw surface roughness symbol for the following information:

(1) Surface roughness limit: 25 um

(1))  Process of surface preparation: Milling

(iii)) Length of sampling: 3.5 mm

(iv)  Machining allowance: 2.0 mm

Draw symbols for the following

Double V butt joint ~ Spot weld Seam weld

Reducer Refrigerant line  Gate valve
OR

List type of sections and explain following type of section and it’s use with
help of NEAT sketch.

(i)

Revolved section  (ii) Removed section (iii) Phantom section

(iv)  Offset section
What is ‘Tolerance of Form and Position’ ? List and explain all type of such
tolerances with their NEAT sketches.
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